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34431100/1 Lkntwht htdwupy (M) Q2 hunn 349000 5 1745.000
34431100/2 Lintuwghl hidwipy] (L) Q2 huiwn 349000 6 2094.000
34431100/3 Lintughts hdwtithy (XL) Q2 huin 349000 2 698.000
18441210 Uwnuijwpin Q2 huwwn 19000 13 247.000
34431200/1 Zksmtihyh hunnwljughin ynuw Q2 huwn 12000 3 36.000
34431200/2 Zkdwihyh winjwpughl Q2 hunn 5000 8 40.000
34431200/3 Puquiwdniijghniiug gnpdhp Q2 huwn 18000 2 36.000
34431200/4 Qtinling b wpduljwljuy Q2 qnuq 8000 13 104.000
plpudkip 5000.000
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79411210 Qunulubph junphppunyuijub Swpwynipiniiilp UU  |ppud 80000 1 80.000
55110000 Zympuingwih dwnwnipjnibbkp %2 npund 0 1 0.000
phudkiip 80.000




